Yiran

5% =

AL

MEFEHAT 2 BRI L E DL T
BERAFEREAL 151 —1

B & W
1 14
2 fdh UB1T) %P

3 AMLESITH L5441 0H1 2 H B 4A ZFHIOKEL 545 “®T FRIOWRES 04y
AAL R OBRAL S A VW EBR T I T TR BB S 5 AT 2 g =
4 AFLEERGE K OS5 3R
(1) AFLxr5e%H 1,706,000  (HEBitkX)
(2) AFLFEIE
H¥EL AFLAFE (AL - ) (3) AFLFES
Mers . B  BEERE 1, 690, 000 veAL

BERIWEMRAEXEIT2 —6 — 1

ENIE 3=y L S (E1=] I

HEESER T (BR) 1, 588, 000

) AR 1, 295, 000 WR) FAxY

(BR) AR K 3% A ARt

(#R) = rFER% 1, 480, 000 ot i Wl
FoTA—A () spn| HILEE

SRS (BR) REIR 1,424, 500 (JHEBLIAI)




